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dn vs WGP Angle
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dn vs Band per detector and WGP angle

dn
NO N D O 0O
,H\‘\H‘\H‘\H‘H\‘H\

Detector=1 SS1, WGP=0

M2 M4 M3 11 12 M7 M3

Band

M6

dn

Detector=2 SS1, WGP=0

M1

M2 M4 M3 11 12 M7 M3

Band

+ 624.103

% 644.994

O 662.398 676.208 786.902 X 803.200

M6



dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and wavelength
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